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Time : 2 Hours]  [Max. Marks : 50 

 
 : (1) -I      . 
  (2) -I      . 
  (3) -II    5  . 

 

 – I 
      :   
1. (A)       . 10 
 (B)    . 10 
 
2. (A)     (GST)    .  10 
 (B)     (GST)   . 10 
 
3. (A)     (GST)   .  10 
 (B)           (GST)    

.  10 
 
4. (A)     (GST)  -  . 10 
 (B)     (GST)      . 10 
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 – II 
5.         : ( 5   .) 10 
 (1)     (GST)   . 
 (2)                   

     . 
 (3)      ,       . 
 (4)            . 

 (5)        (GST) 2017    . 
 (6)        . 
 (7)            . 
 (8)            

    . 
 (9)    “  ”        

    . 
 (10)               

  . 
 (11)      Input GST   . 
 (12)      Output GST   . 

_______________  
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Instructions : (1) All questions in Section–I carry equal marks. 
   (2) Attempt ANY TWO questions in Section – I. 
   (3) Question 5 in Section – II is Compulsory. 
 

SECTION – I 
Attempt any two :   
1. (A) Define Company and explain types of company 10 
 (B) Explain Residential status of company. 10 
 
2. (A) Explain salient features of Goods and Service Tax (GST).  10 
 (B) Explain benefits of GST 10 
 
3. (A) Explain functions of GST council.  10 
 (B) What is role of Central Board of Excise and Customs with reference to GST 10 
 
4. (A) Explain different types of GST. 10 
 (B) Write short note on Input Tax Credit of GST. 10 
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SECTION – II 
5. State whether following statements are TRUE or FALSE : (Attempt any FIVE) 10 
 (1) GST is indirect tax. 
 (2) When supply of goods and services is within the state, GST is levied by State 

Government and Central Government. 
 (3) Rates of GST are decided by GST Council. 
 (4) Rates of GST are same in all States. 
 (5) GST was implemented in India in the year 2017. 
 (6) A Company can also be formed by one person. 
 (7) There is no other tax in India except GST. 
 (8) Residential Status of Company is decided on the basis of number of days of stay 

in India by the Managing Director of the respective Company. 
 (9) Tax liability of a company is not affected by the Company's managerial decision 

'Make or Buy’. 
 (10) Non Resident Companies are also require pay tax in India on income earned from 

business outside India. 
 (11) On purchase of goods and services Input GST is applicable. 
 (12) On sale of goods and services Output GST is applicable. 

_______________ 
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 : (1) -I       . 
  (2) -I      . 
  (3) -II    5  . 
 

 – I 
1. (A)     ?   ()    .  10 
 (B)   : 10 
  (i)  ()   () 
  (ii)    
 
2. (A)      .  10 
 (B)     .  10 
 
3. (A)      . 10 
 (B)     .                                                                10 
 
4. (A)     ?     .  10 
 (B)        .                                            10 
 

 – II 
5.     : ( )  10 
 (1)            
  (A)     (B)    
  (C)   (D)   
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 (2)      ______   . 
  (A)   (B)   
  (C)   (D)   
 (3)      ? 
  (A)   (B)  
  (C)   (D)   
 (4) _______       . 
  (A)   (B)   
  (C)       (D)   
 (5)    ______ . 
  (A)    (B)   
  (C)   (D)    
 (6) ______             . 
  (A)   (B)   
  (C)   (D)     
 (7) ______          . 
  (A)    (B)   
  (C)  (D)     
 (8)  _____   ,       . 
  (A)  (B)  
  (C)  (D)     
 (9) ________          . 
  (A)  (B)  
  (C)    (D)     
 (10)        ______   . 
  (A)  (B)  
  (C) (A) & (B)  (D)     

______________  
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Instructions : (1) All Questions in Section – 1 carry equal marks.  
   (2) Attempt any TWO questions in Section – 1.  
   (3) Question 5 in Section – 2 is compulsory. 
 

Section – 1 
1. (A) What is Risk Management? Explain methods of managing or handling risks.  10 
 (B) Give difference between following : 10 
  (i) Peril and Hazard  
  (ii) Risk and Uncertainty 
 
2. (A) Describe Risk Control Measures.  10 
 (B) Explain process of risk identification.  10 
 
3. (A) Explain insurance as a risk transfer tool.  10 
 (B) Explain economics of risk financing.                                                                 10 
 
4. (A) What is risk retention? Explain determinants of retention policy.  10 
 (B) Explain techniques and benefits of risk retention.                                            10 
 

Section – 2 
5. Choose correct option : (Attempt any Five)  10 
 (1) There is a possibility of loss or gain in a situation, which is called 
  (A) Market Risk  (B) Speculative Risk  
  (C) Business Risk (D) Financial Risk 
 (2) Wearing helmet when driving is risk ______ measures. 
  (A) Prevention  (B) Minimization 
  (C) Avoidance  (D) Transfer 
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 (3) Which is not risk financing technique ? 
  (A) Hedging  (B) Insurance  
  (C) Risk Retention  (D) Borrowing 
 (4) _______ is technique that should be used as last resort. 
  (A) Risk Control         (B) Risk Financing     
  (C) Risk Avoidance     (D) Risk Transfer 
 (5) Interest rate risk is a ______. 
  (A) Pure Risk  (B) Speculative Risk  
  (C) Business Risk (D) None of the above 
 (6) ______ is a better strategy in case of high frequency, high severity risks.  
  (A) Risk Avoidance  (B) Risk Transfer  
  (C) Risk Control (D) None of the above 
 (7) ______ is more appropriate for high severity and low frequency losses.  
  (A) Loss Minimization  (B) Loss Prevention  
  (C) Diversification (D) None of the above 
 (8) In a _____ skewed distribution, the mean would be lower than the median.  
  (A) Positive  (B) Negative  
  (C) Perfect (D) None of the above 
 (9) ________ is the expression of probability of occurrence of a loss producing event 

in relation to a time period. 
  (A) Frequency  (B) Severity  
  (C) Cost of expected loss (D) None of the above  
 (10) Maximum speed limit on roads is a loss ______measure. 
  (A) Prevention  (B) Minimization  
  (C) Both (A) & (B) (D) None of the above 

______________ 


